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Warm-­‐Up#

	
  
	
  

Y><_YH`>AAE##M7D>7R7Q_YYY>#U7DS7^############## :(4.(;E#Q7D>7]7R_YYY>#U7DS7R#

Which	
  of	
  the	
  following	
  is	
  equivalent	
  to	
   2
5

?	
  

A	
  	
  	
  	
  	
  2.25	
  
	
  
B	
  	
  	
  	
  	
  2.5	
  
	
  
C	
  	
  	
  	
  	
  5.2	
  
	
  
D	
  	
  	
  	
  	
  5.25	
  
	
  

	
  	
  
Add:	
  	
  
	
  
1)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
	
  
2)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

#
#
#
#
#
#
Y300(-)E##Q7D>7R7]_YYY>#[7:=7R#

#
#
#
#
#
#
T)*(0E#Q7D>7R7R_#YYY>#M7DS7R#

	
  
In	
  the	
  United	
  States	
  2	
  out	
  of	
  every	
  5	
  teenage	
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Name_______________________	
  Per.	
  ______
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O(1.G-.-G#:&C/1#9F#=0,/,0).,-1#
#

#
#
#

c&1(#to#`(.G*)#Ratio	
  is#M/^#####N,0'1*(()#U#$#W#
####################### ########

c&1(# 8	
  meters	
   	
   	
   40	
  meters	
  
`(.G*)# 	
   12	
  meters	
   27	
  meters	
   	
  

	
  
	
  

#
c&1(	
  to	
  :&C/#X(-G)*	
  Ratio	
  is	
  M/U#####N,0'1*(()#\#$#R]	
  

	
  
c&1(# 1	
  meter	
   16	
  meters	
   	
   	
  

:&C/#X(-G)*# 	
   	
  	
   30	
  meters	
   60	
  meters	
  
#
#
#
#

`(.G*)#to	
  :&C/#X(-G)*	
  Ratio	
  is	
  ^/U#####N,0'1*(()#R^#$#RQ#
#

`(.G*)# 12	
  meters	
   33	
  meters	
   	
   	
  
:&C/#X(-G)*# 	
   	
   67	
  meters	
   92	
  meters	
  

#
#
#
#
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Practice
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Key	
  to	
  Practice	
  	
  
Distance	
  Needing	
  to	
  Travel	
   Length	
  of	
  Ramp	
   Base	
   Height	
  

18	
  meters	
  
(6	
  Buses)	
  

r	
  =	
  6	
  m	
   b	
  =	
  4.8	
  m	
   h	
  =	
  3.6	
  m	
  

30	
  meters	
  
(10	
  Buses)	
  

r	
  =	
  10	
  m	
   b	
  =	
  8	
  m	
   h	
  =	
  6	
  m	
  

48	
  meters	
  
(16	
  Buses)	
  

r	
  =	
  16	
  m	
   b	
  =	
  12.8	
  m	
  


